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*Every Wrong answer will deduct 1 Mark Full Marks : 160
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11.

The carnivores have

a. Sharp teeth b. clauses

¢. both (c) and (b) d. only broad teeth
Human beings are

a. Harbivores b. Carnivores

c. Scavongers d. Omnivores
When we eat a carrot, we eat ____ partof a

a. Stem b. Leaf

c. Root d. All of them

Deficiency of iron causes

a. Anaemia b. Goitre

c. Rickets d. Beri Beri

What is caused by the deficiency of water in the

body
a. Osteoporosis b. Dehydration
c. Goitre d. Anaemia
Soyabeans are rich in
a. Carbohydrate b. Protein
c. Fat d. All of these

The rib cage of our body protects our
a. Heart
c. Neck

b. Eyes
d. Stomach

Which of the following havelight and pneumatic

bones -
a. Man b. Dog
c. Horse d. Bird

Which group of animals have fins and gills?

a. Frogs b. Fishes

c. Snakes d. Turtle
The camel stores in its lump.

a. water b. Food

c. Both (c) and (b) d. None of them

The leaves of cactus are modified into

a. Spines b. Root

c. Shoot d. Flower

12. The muscles covers the

a. Skin b. Bones

c. Both (a) and (b) d. None of these
13. Name the Defense Minister of India?
a. Amit Shah b. Narendra Modi

c. Rajnath Sing d. S.Jaishankar

14. In which year did Gandhiji start the Quit India

Movement?
a. 1940 b. 1932
c. 1946 d. 1942

15. Whatis the rank of India in the world according
to the area?

a. 6th b. 5th

c. 7th d. 1st

16. When is National Youth Day celebrated?

a. 14th January b. 12th February

¢. 22nd January d. 12th January

17. In the beginning how many are there in

‘Constituent Assembly?

a. 382 b. 389
c. 389 d. 386
18. Patliputra was the ancient name of ___ city.
a. Kolkata b. Delhi
c. Patna d. Chennai

19. Mool Shankar was the original of which famous
personality?

a. Swami Dayananda Saraswati
b. Gandhiji
c. Bhagat Singh
d. Rabindranath Tagore
20. Ram Nath Kovind is the ___ president of India.
a. 12th b. 13th

c. 10th d. 14th
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29.

30.

Fill in the blanks with proper forms of Pronouns

Bela is more laborious than

a. I b. Me
c. Myself d. Mine
of the Indian singers do you like the
most?
a. Who b. Who
c. Whoever d. Which

Find out the type of Nouns from the underlined
words in the given sentences:

Patience is a virtue

a. Common noun b. Abstract noun

c. Material noun d. Collective noun

An army office-thousand soldiers is marching.
a. Common noun b. Abstract noun

c. Material noun d.Collective noun

Fill in the blanks with Collective Nouns

A of leaders.

a. Team b. herd

c. Galaxy d. Congress

Find the incorrect part in the given sentence

The infant (a)/ is learning (b)/ the alphabets
(c) / no error (d)

Fill in the blanks
Indira Gandhi was the ____ politician of her
time.

a. First b. Foremost

c. Finest d. Fantastic
KK was playback singer of his time.

a. The best and the most famous
b. The better and famous
c. The best and most famous

d. A good and famous
Fill in the blanks with an adverb

The Indian excavators were slow in their
discovery.

a. completely b. rather

c. fairly d. much

Choose suitable conjunctions for the blanks:
He saved some bread __ he should not go
hungry on the morrow.

b. so that

d. as though

a. even if
c. provided that

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

I was annoyed, ___ I kept quiet.
a. so b. but
c. still d. none of these

Choose the correct synonym of the given word.

Garnish
a. Paint b. Adorn
c. Gamer d. Banish

Choose the correct antonym of the given word.

Exodus:

a. Influx b. Return

¢. Homecoming d. Restoration

Fill in the blank with the correct form of the

verb

The programme ___ by BBC last night.
a. Was broadcast b. Broadcasted
c. Is being broadcast d. Had Dbeen
broadcast
If I___ (be)aking, I would help the poor.
a. Had been b. Were
c. Was d. Become

Give adjective form of the following word
Heart

a. Cordial b. Cardiac

c. Fervent d. All of these

Fill in the blanks with appropriate prepositions.

The driver put a spurt to reach in time.
a. in b. by
c. up d. down

The accused was let with a warning.

a. out b. of
c. off d. down
Find out the meanings of the Idioms
To go the whole hog
a. To leave b. To commemorate

c. To complete d. To surrender

Find the past participle form of REND
a. Rended b. Rented
c. Rent d. Rendered

Find out the missing number?
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43.
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45.

46.

47.
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49.

50.

51.

2+3=351+4=17then1+9=7?

a. 79 b. 89
c. 76 d. 86
Find out the missing number ?
23 52 16
37 21 23
34 53 ?
a. 27 b. 26
c. 28 d. 29
Find out the missing number ?
20 25 50
8 5 10
24 ? 80
a. 40 b. 30
c. 42 d. 50

How many such pairs of digits are there in the
number 421579368 each of which has as many
digits between them in the number as when
they are arranged in ascending order?

b. One

d. Three

What was the day of the week on 16th July,
1776?

a. Tuesday

a. None
c. Two

b. Wednesday

c. Monday d. Saturday

Sam ranked 9th from the top and 38th from the
bottom in a class. How many students are there
in the class ?

a. 45
c. 46

b. 47
d. 48
In a certain code language, if the value of

‘CONTRACT’ = 56 and ‘GROWTH’ = 30, then
what is the value of DISTRIBUTION?

a. 130 b. 132 c. 140 d. 142
If EGIK = FILO, then FHJL = ?

a. GJMP b. GJPM

c. HGMN d. GMJO
Insert the missing number.
7,26, 63,124, 215, 342, (....)

a. 391 b. 421 c. 481 d. 511
If 782 = 20, and 671=17, then 884 = ?

a. 26 b. 23

c. 32 d. 19

If ‘+" denotes +, '~ denotes %, “x” denotes - and

52.

53.

54.

55.

56.

57.

58.

59.

60.

‘+" denotes +, then35+7-5+5x6="7
a. 20 b. 14 c. 36 d. 24

One morning at 7 O’clock, Naresh started
walking with his back towards the Sun. Then he
turned towards left, walked straight and then
turned towards right and walked straight. Then
he again turned towards left. Now in which
direction is he facing ?

a. West
c. North

b. Southp
d. East

In the following number series only one number
is wrong. Find out the wrong number.

2,4,32,48,150

a. 32 b. 2 c. 4 d. 150
3,7,16,32,56,93,142

a. 56 b. 16 c. 32 d. 7

Sohan ranks seventh from the top and twenty-
sixth from the bottom in a class. How many
students are there in the class ?

a. 33 b. 34
c. 31 d. 32
Find the missing number.
0,9,26,65
a. 122 b. 114 c. 124  d. 136
Find the missing number.
3,5,8,13,21,
a. 34 b. 36 c. 38 d. 42

Choose thealternative whichis closely resembles
the mirror image of the given combination

JUDGEMENT

(1) TNEMEGDUJ
(3) TUIM32AUL

(2) TMaIM3GauL
(4) LUQD3IMINT

a. 1l b. 2 c.3 d 4

Choose thealternative whichis closely resembles
the water-image of the given combination.
ab45CD67

1) aptaCcDe)
3) 8py2CD9A

(2) speacCDe!
(4) spyacpe!

a. 1 b. 2 c.3 d. 4

Find the number of triangles in the given figure.
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61. The smallest multiple of ‘3’ is - 74. 15cm=__ _m?
a.? b. 3 a. 1.5m b. 0.015m
c- 12 d 1 c. 0.15m d. 150m
62. Convert in to paisa - “100 Rupee 10 paisa”
a. 10010 b. 1001 75. A basket has x mangoes, how many mangoes
c. 10100 d. 11000 are there in 5 baskets?
X+ . X -
63. Writeasadecimals: “Two tens and nine tenths.” 3. x5 b XX >
a. 20.9 b. 1.1 c. 5x d 3
c. 29 d. 20.09 76. Two number are in the ratio 3 : 5. If the sum of
64. Which of the following can be made of with a numbers is 144, then the smaller number is
piece of paper? a. 48 b. 54
a. Aline b. A line segment
c. Aray d. A plane c. 90 d. 108
65. Find the ratio of 90 cm and 1.5 m. 77. Which of the following is correct ?
a.9:15 b. 3:5 a.3:5=31:26 b. 4:8=16:32
€.5:3 d 6:1 c.7:3=12:3 d. 125:225=250:1
=?
6. 3 zlgggf +7>1000+9 X;'()O?’;g(ig 10+4=2 78. Which of the following equations does not have
L )
c. 37904 d. 379409 a solution in integers?
ax+1l=1 b. x-1=3
67. Out of four option which is divisible by 117
a. 22222222 b. 3333333 ¢ 2x+1=6 d. 1-x=5
c. 1111111 d. 44444 79. Which of the following is a prime number ?
68. 2 million="7? a. 69 b. 87
a. 20 lakh b. 20 crore c. 91 d. 97
c. 2 lakh d. 2crore
. Which of the following is not co-prime ?
69. The number obtained when 433 is divided by 80 1 ot the ToTOWINg 15 ot co-ptime
7 is? a. 8,10 b. 11,12
a. LXII b. LXIIII c.13 d. 31,33
¢ LXIX d. XXVl 61. ‘3 ¥ FCSTH (RIGH el 71
70. (93 x63+93 x37)="7?
a. 9300 b. 93000 a9 b3
c. 930 d. None of these c. 12 d. 1
71. How many whole numbers are there between | g2. 100315l 10 2[T- & AT RS 37 |
99 and 300 ? -
a. 199 b. 200 a. 10010 b. 100
c. 201 d. 202 c. 10100 d. 11000
72. Which of the following statements is not true | gs  wifiis 25 0] - “UB eI G T eI
for three whole number Sa, band ¢ ?
a. a+ (b+c) = (a+b) +c a. 20.9 b. 1.1
b.a/ (b/c)=(a/b)/c c. 2.9 d. 20.09
c. Both
d. None of these 64. T @D G FeCE Gl e tofs a1
?
73. Number of points a line can have are T
a. 1 b. 2 a. GFo (T b. &6 @die
c.0 d. infinite
c. a6 TR d. 935 FTree
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a.9:15 b. 3:5

c.5:3 d. 6:1

3 x 10000 +7 x 1000 +9 x 100 + 0 x 10 + 4 =?

a. 3794 b. 37940
c. 37904 d. 379409
T @I A0 11 21 ©l9 I A2
a. 22222222 b. 3333333
c. 1111111 d. 44444
2 million =7?
a. 20 lakh b. 20 crore
c. 2 lakh d. 2 crore
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c. 930 d. ICAIHE
Fo9Ifet AR AR 99 =% 300 [ 2

a. 199 b. 200

c. 201 d. 202

53 @IS ey 7 foafd sjefiant a, b @3 @3
Grely ?

a.a+ (btc)=(a+b)+c

b.a/ (b/c)=(a/b) /c

c. i d. (@A w7

73.

74.

75.

76.

77.

78.

79.

80.

G5! AR FoaffeT [ AT A 2
a. 1l b. 2
c. 0 d. S=RYg
15cm=__m?
a. 1.om b. 0.015m
c. 0.15m d. 150m

aofb fere x 5 i e, 5 B 9fors wwsf
Y (IR ?

a.x+5 b.
c. 5x d =

fS MR oA 32 5| [ =27 7o (w144
2, O0F (RIG AR Fo 2

a. 48 b. 54
c. 90 d. 108
@I o= 2
a.3:5=31:26 b. 4:8=16:32
c.7:3=12:3 d. 125:225=250:1

067 (I AT TN SIS AL} 7T 2

a.xt+t1=1 b. x-1=3

c.2x+1=6 d. 1-x=5
I = & GNfeTss 747 2

a. 69 b. 87

c. 91 d. 97
CRIG AN AL 7 2

a. 8,10 b. 11,12

c. 1,3 d. 31,33




